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Question Solution Question Solution
Question 1 FFFF Question 33  FFFF
Question 2 TFTT Question 34  TFFF
Question 3 TTTF Question35 FTTT
Question 4 TFFT Question36  TTFT
Question 5 TFFF Question 37  TFFT
Question 6 TTFF Question38  FFTT
Question 7 FTFF Question39  TFTF
Question 8 TFFF Question40  FFTF
Question 9 TTFF Question41  FTFT
Question 10 TFFF Question42  TTFT
Question 11 FFTF Question43  TTTF
Question 12 FFTT Question 44  FTFF
Question 13 TTFT Question45  FTTF
Question 14 TTFT Question 46  FFTF
Question 15 FTTF Question47  TTTT
Question 16 TFFF
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Question 18 FFFF
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Question 21 FTFT
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